J. Appl. Math. & Informatics Vol. **31**(2013), No. 1 - 2, pp. 229 - 239 Website: http://www.kcam.biz

LIE SYMMETRY ANALYSIS AND INVARIANT SOLUTIONS OF THE GENERALIZED FIFTH-ORDER KDV EQUATION WITH VARIABLE COEFFICIENTS^{\dagger}

WANG GANG-WEI*, LIU XI-QIANG AND ZHANG YING-YUAN

ABSTRACT. This paper studies the generalized fifth-order KdV equation with variable coefficients using Lie symmetry methods.Lie group classification with respect to the time dependent coefficients is performed. Then we get the similarity reductions using the symmetry and give some exact solutions.

AMS Mathematics Subject Classification : 35Q53. *Key words and phrases* : Fifth-order KdV equation, Variable coefficients, Lie symmetries, Group-invariant solutions.

1. Introduction

It is well known that the celebrated KdV types of equations have been around for a very long time.Lot of studies have been conducted with these types of equations [1-8].In this paper,the generalized fifth-order KdV equation

$$u_t + u^n u_x + \alpha(t)u + \beta(t)u_{xxxxx} = 0, \qquad (1.1)$$

of time dependent variable coefficients of the linear damping and dispersion is studied. Here in (1.1) the first term represents the evolution term while the second term represents the nonlinear term. The third term represents the linear damping while the fourth term is the dispersion term. The time dependent coefficients of damping and dispersion are, respectively, $\alpha(t)$ and $\beta(t)$ are arbitrary smooth functions of the variable t.

These fifth-order KdV types of equations have been derived to model many physical phenomena, such as gravity-capillary waves on a shallow layer and magneto-sound propagation in plasmas, and so on.In [9] similarity solutions for some classes of the Eq.(1.1) were considered. The paper [10] is mainly concerned

Received January 12, 2012. Revised April 14, 2012. Accepted April 23, 2012. *Corresponding author. [†]The project is supported by National Natural Science Foundation of China and China Academy of Engineering Physics (NSAF:11076015).

^{© 2013} Korean SIGCAM and KSCAM.

with the local well-posedness of the initial-value problems for the Kawahara and the modified Kawahara equations in Sobolev spaces.

Lie's method of infinitesimal transformation groups which essentially reduces the number of independent variables in partial differential equation (PDE) and reduces the order of ODE has been widely used in equations of mathematical physics. Lie's method [11-19] is an effective and simplest method among group theoretic techniques and a large number of equations are solved with the aid of this method.

Our aim in the present work is to perform the variable coefficients version of the generalized fifth-order KdV equation with the help of Lie's method. Then we get symmetry reductions and group-invariant solutions.

2. Lie group classification

2.1. Lie symmetry analysis of (1.1)

If (1.1) is invariant under a one parameter Lie group of point transformations $t^* = t + \epsilon \tau(x, t, u) + O(\epsilon^2), \ x^* = x + \epsilon \xi(x, t, u) + O(\epsilon^2), \ u^* = u + \epsilon \eta(x, t, u) + O(\epsilon^2),$ (2.1)

with infinitesimal generator

$$V = \tau(x, t, u)\frac{\partial}{\partial t} + \xi(x, t, u)\frac{\partial}{\partial x} + \eta(x, t, u)\frac{\partial}{\partial u},$$
(2.2)

then the invariant condition reads as

 $\eta^{t} + u^{n}\eta^{x} + n\eta u_{x}u^{n-1} + \alpha^{'}(t)\tau u + \beta^{'}(t)\tau u_{xxxxx} + \alpha(t)\eta + \beta(t)\eta^{xxxxx} = 0, \quad (2.3)$ where

$$\eta^{t} = D_{t}(\eta) - u_{x}D_{t}(\xi) - u_{t}D_{t}(\tau),$$

$$\eta^{x} = D_{x}(\eta) - u_{x}D_{x}(\xi) - u_{t}D_{x}(\tau),$$

$$\eta^{xx} = D_{x}(\eta^{x}) - u_{xt}D_{x}(\tau) - u_{xx}D_{x}(\xi),$$

$$\eta^{xxxx} = D_{x}(\eta^{xxx}) - u_{xxxt}D_{x}(\tau) - u_{xxxx}D_{x}(\xi),$$

$$\eta^{xxxxx} = D_{x}(\eta^{xxxx}) - u_{xxxxt}D_{x}(\tau) - u_{xxxxx}D_{x}(\xi),$$

$$\eta^{xxxxx} = D_{x}(\eta^{xxxx}) - u_{xxxxt}D_{x}(\tau) - u_{xxxxx}D_{x}(\xi).$$

Here, D_i denotes the total derivative operator and is defined by

$$D_i = \frac{\partial}{\partial x^i} + u_i \frac{\partial}{\partial u} + u_{ij} \frac{\partial}{\partial u_j} + \cdots \quad i = 1, 2,$$

 $and(x^1, x^2) = (t, x).$

The infinitesimals are determined from invariance condition (2.3), by setting the coefficients of different differentials equal to zero. We obtain an over determined system of linear partial differential equations (PDEs). Therefore, the determining equation for symmetries after some tedious calculations yield

$$\tau = \tau(t), \ \xi_u = 0, \ \xi_t = 0, \ \xi_{xx} = 0, \ \eta_{uu} = 0, \ \eta_x = 0, \ (2.4)$$

$$\beta(t)\tau_t + \beta'(t)\tau - 5\beta(t)\xi_x = 0, \qquad (2.5)$$

230

Lie symmetry analysis and invariant solutions of the generalized fifth-order KdV eqn 231

$$\tau_t u - \xi_x u + n\eta = 0, \tag{2.6}$$

$$\eta_t + \alpha(t)\eta + \alpha(t)u\tau_t - \alpha(t)u\eta_u + u\alpha'(t)\tau = 0.$$
(2.7)

Solving the determining Eqs.(2.4)-(2.7) we get three sets of infinitesimals Set.1

$$\eta = \frac{(c_1 + c_3 n e^{nt\alpha})}{n} u, \tau = -\frac{c_3 e^{nt\alpha}}{\alpha} + c_4, \xi = c_1 x + c_2,$$
$$\frac{\beta'}{\beta} = \frac{5c_1 \alpha + c_3 n \alpha e^{nt\alpha}}{c_4 \alpha - c_3 e^{nt\alpha}},$$
(2.8)

where α is a constant.

For this case, the symmetry Lie algebra is four-dimensional and is spanned by generators of symmetry

$$V_1 = \frac{\partial}{\partial x}, V_2 = x\frac{\partial}{\partial x} + \frac{1}{n}u\frac{\partial}{\partial u}, V_3 = -\frac{1}{\alpha}e^{n\alpha t}\frac{\partial}{\partial t} + e^{n\alpha t}u\frac{\partial}{\partial u}, V_4 = \frac{\partial}{\partial t}.$$
 (2.9)

Set.2

$$\xi = c_1 x + c_2, \ \tau = (c_1 - nc_3)t + c_4, \ \eta = c_3 u,$$

$$\frac{\beta'}{\beta} = \frac{4c_1 + nc_3}{(c_1 - nc_3)t + c_4}, \ \alpha = \frac{c_5}{(c_1 - nc_3)t + c_4}.$$
 (2.10)

The Lie algebra extends in this case by symmetry generator

$$V_1 = \frac{\partial}{\partial x}, \ V_2 = x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t}, \ V_3 = -nt \frac{\partial}{\partial t} + u \frac{\partial}{\partial u}, \ V_4 = \frac{\partial}{\partial t}.$$
 (2.11)

 $\operatorname{Set.3}$

$$\xi = (c_1 + nc_2)x + c_3, \ \tau = c_1 t + c_4, \ \eta = c_2 u,$$
$$\frac{\beta'}{\beta} = \frac{4c_1 + 5nc_2}{c_1 t + c_4}, \ \alpha = 0.$$
(2.12)

For this case, the symmetry Lie algebra is extended by the generators of symmetry

$$V_1 = \frac{\partial}{\partial x}, \ V_2 = x \frac{\partial}{\partial x} + t \frac{\partial}{\partial t}, \ V_3 = nx \frac{\partial}{\partial x} + u \frac{\partial}{\partial u}, \ V_4 = \frac{\partial}{\partial t}.$$
 (2.13)

It easy to check that the symmetry generators found in (2.9), (2.11) and (2.13) form a closed Lie algebra whose commutation relations are given in Tables 1, 2 and 3, respectively. The entry in row i and column j representing $[V_i, V_j]$. Here $[V_i, V_j]$ is the commutator for the Lie algebra[11] given by

$$[V_i, V_j] = V_i V_j - V_j V_i.$$

Table 1. Commutator table of the Lie algebra of (2.9).

	V_1	V_2	V_3	V_4
V_1	0	V_1	0	0
V_2	$-V_1$	0	0	0
V_3	0	0	0	$-n\alpha V_3$
V_4	0	0	$n\alpha V_3$	0

	V_1	V_2	V_3	V_4
V_1	0	V_1	0	0
V_2	$-V_1$	0	0	$-V_4$
V_3	0	0	0	nV_4
V_4	0	V_4	$-nV_4$	0

Table 2. Commutator table of the Lie algebra of (2.11).

Table 3. Commutator t	able of	the Lie a	lgebra of	(2.13)).
-----------------------	---------	-----------	-----------	--------	----

	V_1	V_2	V_3	V_4
V_1	0	V_1	nV_1	0
V_2	$-V_1$	0	0	$-V_4$
V_3	$-nV_1$	0	0	0
V_4	0	V_4	0	0

3. Symmetry reductions and exact group-invariant solutions

In order to obtain similarity reductions and solutions of Eq(1.1), one first solves the characteristic equation, to obtain invariant transformations and then substitutes these results into Eq(1.1) to determine the corresponding reduced equations. Finally, similarity solutions can be obtained. We write the characteristic equations in the form

$$\frac{dx}{\xi} = \frac{dt}{\tau} = \frac{du}{\eta}.$$

Here we discuss the following cases:

3.1. Symmetry reductions to case Set.1

3.1.1. $c_1 = c_2 = c_4 = 0(V_3)$.

In this case, one can get the following form similarity solution

$$u(x,t) = e^{-\alpha t} f(h), \qquad (3.1)$$

where h = x is the group-invariant and $\beta = b_0 e^{-n\alpha t}$. Substitution of (3.1) into the (1.1), we reduce it to the following ODE

$$b_0 f^{(5)} + f^n f' = 0. ag{3.2}$$

Integration of (3.2), yields

$$b_0 f^{(4)} + \frac{1}{n+1} f^{n+1} - C_1 = 0, (3.3)$$

where b_0, C_1 are constants of integration.

3.1.2. $c_1 = c_4 = 0.$

we derive the following expression of u

$$u(x,t) = e^{-\alpha t} f(h), \qquad (3.4)$$

where $h = x - \frac{c_2}{c_3 n} e^{-n\alpha t}$ is the group-invariant and $\beta = b_1 e^{-n\alpha t}$. Substitution of (3.4) into the (1.1), one can get

$$c_3b_1f^{(5)} + c_3f^nf' + c_2\alpha f' = 0. (3.5)$$

It is also possible to integrate once the ODE (3.5) to get

$$c_3b_1f^{(4)} + \frac{c_3}{n+1}f^{n+1} + c_2\alpha f - C_2 = 0, (3.6)$$

where b_1, C_2 are constants of integration.

3.1.3. $c_4 = 0$.

In this case, we obtain the similarity solution is given by

$$u = exp \left[-\frac{c_1}{c_3 n^2 \alpha} e^{-nt\alpha} - \alpha t \right] f(h),$$

where $h = (c_1 x + c_2) exp \left[\frac{c_1}{c_3 n} e^{-nt\alpha} \right]$ is the group-invariant and
 $\beta = b_2 exp \left[-\frac{5c_1}{c_3 n} e^{-nt\alpha} - n\alpha t \right].$

We have

$$c_3b_2nc_1^4f^{(5)} + nc_3f^nf' - \alpha nhf' + \alpha f = 0, \qquad (3.7)$$

where b_2 is a constant of integration. Here $f' = \frac{df}{dh}$.

3.2. Symmetry reductions to case Set.2

3.2.1. $c_1 = c_2 = 0.$

In this case, one can get the following form similarity solution

$$u(x,t) = (-nc_3t + c_4)^{-\frac{1}{n}}f(h), \qquad (3.8)$$

where h = x is the group-invariant and $\beta = b_3(-nc_3t + c_4)^{-1}$, $\alpha = \frac{c_5}{(c_1 - nc_3)t + c_4}$. Substitution of (3.8) into the (1.1), we reduce it to the following ODE

$$b_3 f^{(5)} + f^n f' + (c_3 + c_5) f = 0. ag{3.9}$$

Integration of (3.9), with $c_3 = -c_5$, yields

$$b_3 f^{(4)} + \frac{1}{n+1} f^{n+1} - C_3 = 0, \qquad (3.10)$$

where b_3, C_3 are constants of integration. Which is similar to (3.3).

3.2.2. $c_1 = 0.$

we derive the following expression

$$u(x,t) = (-nc_3t + c_4)^{-\frac{1}{n}}f(h), h(x,t) = x + \frac{c_2}{nc_3} \lg (c_4 - nc_3t),$$
(3.11)

and

$$\beta = \frac{b_4}{-nc_3t + c_4}, \alpha = \frac{c_5}{(c_1 - nc_3)t + c_4}.$$
(3.12)

Inserting (3.11), (3.12) in (1.1), we have

$$b_4 f^{(5)} + f^n f' - c_2 f' + (c_3 + c_5) f = 0.$$
(3.13)

When $c_3 = -c_5$, it is also possible to integrate once the ODE (3.13) to get

$$b_4 f^{(4)} + \frac{1}{n+1} f^{n+1} - c_2 f - C_4 = 0, \qquad (3.14)$$

where b_4, C_4 are constants of integration.

3.2.3. The general case.

In this case, we obtain the similarity solution is given by

$$u = \left[(c_1 - nc_3)t + c_4 \right]^{\frac{c_3}{c_1 - nc_3}} f(h), \qquad (3.15)$$

where

$$h = (nc_1x + c_2)[(c_1 - nc_3)t + c_4]^{\frac{-c_1}{c_1 - nc_3}},$$
(3.16)

is the group-invariant and

$$\beta = b_5[(c_1 - nc_3)t + c_4]^{\frac{4c_1 + nc_3}{c_1 - nc_3}}, \alpha = \frac{c_5}{(c_1 - nc_3)t + c_4}.$$
(3.17)

We have

$$b_5 c_1^5 f^{(5)} + c_1 f^n f' - c_1 h f' + (c_3 + c_5) f = 0.$$
(3.18)
If $-c_1 = c_3 + c_5$, then we obtain

 $b_5 c_1^4 f^{(5)} + f^n f' - h f' - f = 0.$ (3.19)

Integrate once the ODE (3.19), we get

$$b_5 c_1^4 f^{(4)} + \frac{1}{n+1} f^{n+1} - hf = 0.$$
(3.20)

where b_5 is a constant of integration. Here $f' = \frac{df}{dh}$.

3.3. Symmetry reductions to case Set.3

3.3.1. $c_1 = 0$.

In this case, one can get the following form similarity solution

$$u(x,t) = e^{\frac{c_2}{c_4}t} f(h),$$
(3.21)

where

$$h = (nc_2x + c_3)e^{-\frac{nc_2}{c_4}t}$$

is the group-invariant and $\beta = b_6 e^{\frac{5nc_2}{c_4}t}$. Substitution of (3.21) into the (1.1),we reduce it to the following ODE

$$b_6 c_4 n^4 c_2^4 f^{(5)} + c_4 n f^n f' - n h f' + f = 0, \qquad (3.22)$$

where b_6 is a constant of integration.

3.3.2. $c_1 = c_2 = 0.$

Lie symmetry analysis and invariant solutions of the generalized fifth-order KdV eqn $\qquad 235$

In this case, we have $u = f(h), h = x - \frac{c_3}{c_2}t, \beta = b_7$. Thus (1.1) can becomes

$$b_7 c_2 f^{(5)} + c_2 f^n f' - c_3 f' = 0, aga{3.23}$$

where b_7 is a constant. It is similar to (3.5).

3.3.3. The general case.

In this case, we obtain the similarity solution is given by

$$u = (c_1 t + c_4)^{\frac{c_2}{c_1}} f(h), \qquad (3.24)$$

where

$$h = [(c_1 + nc_2)x + c_3](c_1t + c_4)^{-\frac{c_1 + nc_2}{c_1}},$$
(3.25)

is the group-invariant and

$$\beta = b_8 [c_1 t + c_4]^{\frac{5nc_2 + 4c_1}{c_1}}.$$
(3.26)

We have

$$b_8(c_1 + nc_2)^5 f^{(5)} + (c_1 + nc_2)f^n f' - (c_1 + nc_2)hf' + c_2 f = 0.$$
(3.27)

If $-c_2 = c_1 + nc_2$, then we obtain $b_8(c_1 + nc_2)^5 f^{(5)} + (c_1 + nc_2)^5 f^{(5)} + (c_2 + nc_2)^5 f^{(5)} + (c$

$$+nc_2)^5 f^{(5)} + (c_1 + nc_2)f^n f' + c_2 h f' + c_2 f = 0.$$
(3.28)

Integrate once the ODE (3.28), one can get

$$b_8(c_1 + nc_2)^5 f^{(4)} + \frac{c_1 + nc_2}{n+1} f^{n+1} + c_2 h f = 0.$$
(3.29)

where b_8 is a constant of integration. Here $f' = \frac{df}{dh}$.

It is not difficult to find that the reduced ODEs may be classified into four classes [20]

$$f^{(5)} + Pf^n f' + Qhf' + Rf = 0, (3.30)$$

$$f^{(5)} + Pf^n f' + Qf' = 0, (3.31)$$

$$f^{(5)} + Pf^n f' + Qf = 0, (3.32)$$

$$f^{(5)} + Pf^n f' = 0, (3.33)$$

where P, Q and R are constants.

4. The exact power series solutions

In this section, we will consider the exact analytic solutions to the reduced equations by using the power series method.

Now, we seek a solution of Eq.(3.31) in a power series of the form

$$f(h) = \sum_{n=0}^{\infty} a_n h^n.$$
(4.1)

Integrate once the ODE (3.31), we have

$$f^{(4)} + \frac{P}{n+1}f^{(n+1)} + Qf - C = 0, \qquad (4.2)$$

Substituting (4.1) into (4.2), we can get

$$24a_{4} + \sum_{n=1}^{\infty} (n+1)(n+2)(n+3)(n+4)a_{n+4}h^{n} + \frac{P}{n+1}a_{0}^{n+1} + \frac{P}{n+1}\sum_{n=1}^{\infty} \left(\sum_{k_{1}=0}^{n} \sum_{k_{2}=0}^{k_{1}} \dots \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_{n}=0}^{k_{n-1}} a_{k_{n}}a_{k_{n-1}-k_{n}}\dots a_{n-k_{1}} \right) h^{n} (4.3) + Qa_{0} + Q\sum_{n=1}^{\infty} a_{n}h^{n} - C = 0,$$

From (4.3), comparing coefficients, for n = 0, we obtain

$$a_4 = \frac{1}{24} \left(C - Qa_0 - \frac{P}{n+1} a_0^{n+1} \right).$$
(4.4)

Generally, for $n \ge 1$, we have

$$a_{n+4} = \frac{-1}{(n+1)(n+2)(n+3)(n+4)} \Biggl\{ Qa_n + \frac{P}{n+1} \Biggl(\underbrace{\sum_{k_1=0}^{n} \sum_{k_2=0}^{k_1} \dots \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_n=0}^{k_{n-1}} a_{k_n} a_{k_{n-1}-k_n} \dots a_{n-k_1} \Biggr)_{n-1} \Biggr\}.$$
(4.5)

From (4.4) and (4.5), we can get all the coefficients $a_n (n \ge 4)$ of the power series (4.1). For arbitrary chosen constant numbers a_0, a_1, a_2 , and a_3 , the other terms can be determined successively from (4.4) and (4.5) in a unique way. In addition, it is easy to prove that the convergence of the power series (4.1) with the coefficients give by (4.4) and (4.5)[21]. The details are omitted here. For this reason, this power series solution is an exact analytic solution.

For example, the power series solution of Eq.(3.6) can be written as following

$$f(\xi) = a_0 + a_1 h + a_2 h^2 + a_3 h^3 + a_4 h^4 + \sum_{n=1}^{\infty} a_{n+4} h^{n+4}$$

$$= a_0 + a_1 h + a_2 h^2 + a_3 h^3 + \frac{1}{24c_3b_1} (C_2 - c_2 \alpha a_0 - \frac{c_3}{n+1} a_0^{n+1}) h^4$$

$$- \sum_{n=1}^{\infty} \frac{1}{(n+1)(n+2)(n+3)(n+4)} \left[\frac{c_2 \alpha}{c_3 b_1} a_n + \frac{1}{b_1(n+1)} \left(\sum_{k_1=0}^n \sum_{k_2=0}^{k_1} \dots \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_n=0}^{k_{n-1}} a_{k_n} a_{k_{n-1}-k_n} \dots a_{n-k_1} \right) \right] h^{n+4}.$$
(4.6)

236

Thus, the exact power series solution of Eq.(1.3) is

$$\begin{split} u(x,t) &= \left[a_0 + a_1 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right) + a_2 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^2 + a_3 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^3 \right. \\ &+ \frac{1}{24c_4 b_1} (C_2 - c_2 \alpha a_0 - \frac{c_3}{n+1} a_0^{n+1}) \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^4 \\ &+ \sum_{n=1}^{\infty} c_{n+4} \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^{n+4} \right] e^{-t\alpha} \\ &= \left\{ a_0 + a_1 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right) + a_2 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^2 + a_3 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^3 \right. \\ &+ \frac{1}{24c_4 b_1} (C_2 - c_2 \alpha a_0 - \frac{c_3}{n+1} a_0^{n+1}) \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^4 \\ &- \sum_{n=1}^{\infty} \frac{1}{(n+1)(n+2)(n+3)(n+4)} \left[\frac{c_2 \alpha}{c_3 b_1} a_n \right. \\ &+ \frac{1}{b_1(n+1)} \left(\sum_{k_1=0}^n \sum_{k_2=0}^{k_1} \dots \sum_{k_{n-1}=0}^{k_{n-2}} \sum_{k_n=0}^{k_{n-1}} a_{k_n} a_{k_{n-1}-k_n} \dots a_{n-k_1} \right) \right] \\ &= \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t} \right)^{n+4} \right\} e^{-t\alpha}, \end{split}$$

where $a_i (i = 0, 1, 2, 3)$ are arbitrary constants, the other coefficients $a_n (n \ge 4)$ can be determined successively from (4.4) and (4.5).

Of course, in physical applications, it will be convenient to write the solution of Eq.(1.3) in the approximate form

$$u(x,t) = \left[a_0 + a_1 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t}\right) + a_2 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t}\right)^2 + a_3 \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t}\right)^3 + \frac{1}{24c_4 b_1} (C_2 - c_2 \alpha a_0 - \frac{c_3}{n+1} a_0^{n+1}) \left(x - \frac{c_2}{c_3 n} e^{-n\alpha t}\right)^4 + \dots \right] e^{-t\alpha}, \quad (4.8)$$

in terms of the above computation.

Remark 1. The exact solution of the rest of Eqs and the solution in the approximate form can be written in terms of the above computation. but for brevity we have omitted them here.

5. Conclusion

In this paper we have studied the generalized fifth-order KdV equation with variable coefficients using the Lie symmetry group methods. A Lie group classification of the symmetries with respect to the special forms of the time dependent variable coefficients was presented. At the same time, we generalize the corresponding results in [4]. This study contains a number of new and important

insights. Then some exact exact analytic solutions are obtained by using the power series method. It is important that the reduced ODEs may be classified into four classes. Furthermore, how to get the other forms of exact solutions to these reduced ODEs? We hope to investigate this in the future.

References

- M.S. Ismail and A. Biswas, 1-Soliton solution of the generalized KdV equation with generalized evolution, Appl. Math. Comp. 216 (2010), 1673-1679.
- A.M. Wazwaz, New sets of solitary wave solutions to the KdV, mKdV and generalized KdV equations, Commun. Nonlinear Sci. Numer. Simul. 13 (2008), 331-339.
- T. Xiao-Yan, H. Fei and L. Sen-Yue, Variable coefficient KdV equation and the analytic diagnosis of a pole blocking life cycle, Chinese Phys. Lett. 23 (2006), 887-890.
- A.G. Johnpillai, C.M. Khalique and Anjan Biswas, Exact solutions of KdV equation with time-dependent coefficients, Appl. Math. Comp. 216 (2010), 3114-3119.
- 5. A.M. Wazwaz, Abundant solitons solutions for several forms of the fifth-order KdV equation by using the tanh method, Appl. Math. Comput. **182** (2006), 283-300.
- A. Biswas, Solitary wave solution for the generalized KdV equation with time-dependent damping and dispersion, Commun. Nonlinear Sci. Numer. Simul. 14 (2009), 3503-3506.
- A.G. Johnpillai and C.M. Khalique, Group analysis of KdV equation with time dependent coefficients, Appl. Math. Comput. 216 (2010), 3761-3771.
- A.G. Johnpillai and C.M. Khalique, Lie group classification and invariant solutions of mKdV equation with time-dependent coefficients, Commun. Nonlinear Sci. Numer. Simul. 16 (2011), 1207-1215.
- 9. H. Liu, J. Li and L. Liu, Lie symmetry analysis, optimal systems and exact solutions to the fifth-order KdV types of equations, J. Math. Anal. Appl. **368** (2010), 551-558.
- W. Chen, J. Li, C. Miao and J. Wu, Low regularity solutions of two fifth-order KdV type equations, J. Anal. Math. 107 (2009), 221-238.
- 11. P.J. Olver, Application of Lie Group to Differential Equation, Springer, New York, 1986.
- L.V. Ovsiannikov, Group Analysis of Differential Equations, Academic Press, New York, 1982.
- 13. S. Lie, On integration of a class of linear partial differential equations by means of definite integrals, Arch. Math. VI (3) (1881), 328-368.
- G.W. Bluman and S. Kumei, Symmetries and Differential Equations, Springer, New York, 1989.
- N.H. Ibragimov (Ed.), CRC Handbook of Lie Group Analysis of Differential Equations, Vols. 1-3, CRC Press, Boca Raton, FL., 1994.
- Z.L. Yan and X.Q. Liu, Symmetry and similarity solutions of variable coefficients generalized Zakharov-Kuznetsov equation, Appl. Math. Comput. 180 (2006), 288-294.
- N. Liu and X.Q. Liu, Similarity reductions and similarity solutions of the (3+1)dimensional Kadomtsev-Petviashvili equation, Chin. Phys. Lett. 25 (2008), 3527-3530.
- B. Xu and X.Q. Liu, Classification, reduction, group invariant solutions and conservation laws of the Gardner-KP equation, Appl. Math. Comput. 215 (2009), 1244-1250.
- J.Q. Yu, X.Q. Liu and T.T. Wang, Exact solutions and conservation laws of (2+1)dimensional Boiti-Leon-Pempinelli equation, Appl. Math. Comput. 216 (2010), 2293-2300.
- M.S., D.P. and B.M.V., New exact explicit solutions of the generalized KdV equations, Appl. Math. Comput. 202 (2008), 693-699.
- H. Liu and J. Li. Lie symmetry analysis and exact solutions for the short pulse equation, Nonlinear Anal. 71 (2009), 2126-2133.

Lie symmetry analysis and invariant solutions of the generalized fifth-order KdV eqn 239

Wang Gang-wei graduate student of Liaocheng University. His research interests are the Solution of Nonlinear Evolution Equations.

School of Mathematics Sciences, Liaocheng University, Liaocheng 252059, Shandong, China. e-mail: pukai1121@163.com

Liu Xi-qiang received Ph.D. from Institute of Applied Physics and Computational Mathematics, Beijing, China, He is currently a professor at Liaocheng University. His research interests are he Solution of Nonlinear Evolution Equations.

School of Mathematics Sciences, Liaocheng University, Liaocheng 252059, Shandong, China. e-mail: liuxq@sina.com

Zhang Ying-yuan graduate student of Liaocheng University. Her research interests are the Solution of Nonlinear Evolution Equations.

School of Mathematics Sciences, Liaocheng University, Liaocheng 252059, Shandong, China. e-mail: zhangyingyuanok@126.com